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SECONDARY SCHOOL EXAMINATION - 2018 (ANNUAL)
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Instructions for the candidates: N
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Candidates are required to give their answers in their own words as far as practicable.
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Figures in the right hand margin_ indicate full marks. .
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While answering the questions, candidale should adhere to the word limit as far as praclicable.
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15 Minutes of exira time has been aliotted for the candidates to read the questions carefully.
5 TFIE-TA A GE HE @8 - VT G —~ 9/

This question paper is divided into two sections - Section - A and Section - B.

&S - & 7 40 TGO T &, Tt o g &1 (7w @ oy 1 8@ i &), FTa
ST 9T w9 7% OMR - e # 2 T2 e g7 @) @l At dier 97 @ A e
A JER 7 TR/ v Yarl/ /ARG Fe BT TAY GEer § FET e 78
reraT TOHT TR S ET/

In Section — A, there are 40 objective type questions which are compulsory, each carrying 1 mark.
Darken the circle with biue/black ball pen against the correct option on OMR Sheet provided to you.
Do not use Whitener/Liquid/Blade/Nail on OMR Paper, otherwise the result will be invalid.

7. @Y - § 7 AT & Ja0T & 3 {99 @ 18 &y g0 5T 21 (RE w7 2 55
R &) =70 sfole 59 @ve ¥ 4 O ooy ye7 9 T3 & (797 @ oy 4 3@
ReafRa &) re we7 @ Ry Reey (G @ wg) & v v ge7 far 7 &

In Section - B, there are 18 short answer type questions of 3 subjects under Science (each
carrying 2 marks) as below: Apart from this, there are 4 Long Answer Type queslions. Each
Carrying 4 marks. Each question has an alternate option. :
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'S -3 / SECTION - A

(ﬂ'\‘gﬁq T/ Objective Type Questions)
Aifsa QIR R yTa) 3

A W) faww (40%1=40)

Select the corree
Ct alte \
aliernative out of following multi choice {uestions.

I.  <d fQdwg Ry .
- RS s zdon S sl & e @ aen uiig e B R e ¥
(A) A5ad ey}

N \/B'f el gdu
) STa (D) 7 Wwh

Which mirror
1 " ot . . ‘
or do the dentists use to use large images of the teeth of patients?

(A) Plane Mirror
() Convex Mirror

a2 BT WA I Sy o ey &7

(B) Concave Mirror
(D) All of these

W) smmw e (B) e o
(C) ITa @ Sua o <Y D) T A B &
Which lens is also called diverging lens?
(A) Concave lens (B) Convex lens

(C) Both the concave and convex lens (D) None of these

ywﬁmﬁaﬁﬂﬁﬁ%aﬂmﬁ'

(A) uer) (B) uRaiRer
(©) = o | @ 3T (5t vew)
Who controls pupil’s size?
(A) Ciliary muscles : (B) Iris
(C) Eyelens : (D) Retina
4 15w gfe N oI yEad IR I I ol W T wied of g e fasar S
|AHAT &7 .
(A) Frae gfe O (B) FE-gfe
f v - e @) Atz

Which eye defect can be corrected by using ‘bi-focal lens’ consisting of both concave
and convex lens?

(A) Myopia | ~(B) Hypermetropia
' (C) Presbyopia - (D) Cataract
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(A) T aen vt R S 0 @ BT i e @ A A

(C) (AN (BY S (D) T A P

!.n an experiment, the image of yp object formed by a concave mirror is obtained on 2

N

screen. To dclt‘l‘nIillt“ the focal length of the mirror. the experimenter needs to
measure the distance between the:
(AY  Mirror and Screen (B) Mirror and Object
() Both (A)and (B) (D) None of these
6. TREN B T W B TR D AU amg frg S o1 SUGT S THE B
(A) 50 CIHW@WG?IHF}F (B) 5gcmq-ﬁaﬂ=[§ﬁ$1:ﬂﬁﬁaﬁﬂ
\LQ{Scm‘ﬁ’ﬁﬂ:riﬁﬂﬂGﬁEﬁﬁ (D) 5 cm iEw g @ dEqd A9
Which of the following lenses would you prefer to use while reading smail letters
found in a dictionary?
(A) A convex lens of focal length 50cm.
(B) A concave lens of focal length S0cm.
(C) A convex lens of focal length of Sem.
(D) A concave lens of focal length of 5em.

7. i § 9 o figa feamr a1 SI A 87

i ‘(jf{ diee ~(B) 3
(C) e A g (D) YRR
“ Which of the following is ST unit of electric potential difference?
(A) Vol ' (B) Ohm
(C) Volt per Coulomb (D) Ampere
,8:"Ja'gn2171 (o gfdie) & W gRuer # g aRT &1 919 —
(A) 98 I & & 2| (B) ufRaffa & g 21
\gz(agﬁafﬁiﬁﬁm%! (D) fax oRaffa g 2
At the time of short circuiting, the current in the circuit -
(A) Reduces substantially (B) Does not change
(C) Increases heavily (D) Varies continuously
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R & o &1 e & 1 R w27
(A) TR 2 3R (Bf o AR

(C) smirged (D) Sufeed

A positively — charged particle (alpha - particle) proj

towards north by a magnetic field. The direction of the magnetic field is:

(A) towards south (B) towards east.

(C) downward (D) upward |
ﬁmﬁwwmwwmﬁwﬁw@%lﬁw*

e Rga =T A e § Ree aRemor & wearg gRad g 87

ected towards west i dé,‘f;lectcd

(A) T (B) W
_(9/1 3 (D) e

A rectangular coil of copper wire is being rotated in a magnetic field. The direction of
the induced current in the coil changes once in each. '

(A) two revolutions (B) one revaluation

(C) half revaluation (D) one - fourth revolution
11, forch R urard) e o) aReRra @ SR g & -

_(j[) I BT B |

(B) 0@ RN 9 3R 9 W wed 8|
R(&X 9P RN # IR 99 W e 2|

(D) i Rgail W A g 2

The magnetic field inside a long straight solenoid- carrying current -
(A) is zero

(B) decreases as we move towards its end.

(C) increases as we move towards its end.

(D) is the same at all points.

3. AR qER o fg P ar S waiftes Sege @ 87

(A) , FRTd U (B) ST U
\(;2( araeret QT (D) &7 wf
What kind of mirror would be most suited for a solar cooker?
(A) Plane mirror : (B) Convex mirror
(C) Concave mirror (D) All of these
[112] ' Page 4 of 16 -
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13. 'Rue sn=yem @ L IR R E
(A) W &
() sa W

TR} o
JBY g
(DY RAsh &

The main aim of ¢k
O amaim of *Chipko Movement® was lo conserve -

(1:“ SO
ol (B) trees

4. M - (D) clectricity
: “‘f%ﬁ‘aaﬁﬁmiﬁmaﬂarrmnﬂﬂrﬂnﬂazm‘ﬁﬂmﬁa‘:ﬁ‘mﬁwmE!?

lC) wiater

(A) Ca (HCOy), (B) Ca(OH),
(C) Na (OH) D) Na(HCOy)
Which of the following solutions is used for white washing walls?
(A) Ca (HCO;), (B) Ca(OH),
(C) Na(OH) (D) Na (HCOj)
15, Na:S0,(aq) + BaCl, (aq) — BaSO, (S) + 2 NaCl (aq)
S YRS s € -
&S i s (B) faraorT arfifsmar
(© f v s D) T ¥ P T

Na,S0; (aq) + BaCl, (aq) — BaSO,(S) +2 NaCl (aq)
The above chemical equation is -

(A) Combination reaction (B) ‘Decomposition reaction
(C) Double displacement reaction (D) None of these

16. frfafea § | S &1 g9 ga 1 &7

(A) CaO (B) Ca(OH),
(C) CaCO, (D) Ca
Which one of the following is slaked lime?
(A) Ca0 (B) Ca(OH),
(C) CaCO, (D) Ca
17, @9 NaCO; 1 welrg freras o1 pH & —
(A) 7 (Bf 7 e
€) 797H (D) T B &
pH of aqueous solution of salt Na;COj s -
(A) 7 (B) More than 7
(C) Lessthan7 ' (D) None of these
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,[,y A (B) A7

IO i Dy
Of which metal. the ‘Baunite” s an important ore”
(Ay Copper (B) Zinc
(C) Alumimum (D) Iron P
19. mwf"s’"??'*ﬂ'??gvﬁm W#mﬁ?t!'iqfﬁ[?ﬁﬂﬂﬁ’ﬁfmw o
<« &7 '
(A) arar (B), @i
(C) " = ) TH®
. ) from
Of which metal. the thin fayer is coated over iron and steel 10 protect them 10
rusting? '
(A) Copper (B) Silver
(C) Gold (D) Zinc E T
Q). fom T e @ T B T wIRes wi aiKE (Plaster of Paris) W '
AEHAT 87 .
(A) fadeis g ) farm
(C) Tm geg? (D) = 91
Which chemical compound on heating becomes ‘Plaster of Paris’?
(A) Bleaching Powder (B) Gypsum
(C) Lime stone (D) Quicklime
21. HiUEE # SuflRrd 91aieis 998 8 — o
e
(A) _oH (B) '_(i\
0
| c— Jcm/ I
© I C— C—OH
0

The functional group present is propanone is-

-~
(A _on ®) S
0
0
— C— I
(C) ” (D) ¢c—c—oH
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) R (B) #yifew e
(©) e \*;/ ol 3 A 7f
The JUPAC name of acetic acid is -

(A) ethanoic aciq (B) methanoic acid

- (©) propanone (D) none of these

- ﬁgﬂwwifa%q@ﬁmm%—
(A) T T (B) P
(C) 3mgey Jp) T
In electrolytic refining, impure metal is taken as:
(A) Anode (B) Cathode
(C) Electrolyte (D) All of these
(A) SRR V(EK eie
(€) =i (D) T A
Who established ‘Laws of Octaves’?
(A) Dobereiner (B) Newlands
(C) Mendeleev (D) Henry Mosely
25. e s fram & argaR, del o1 T o -
\9/ URAIY] GAM B A1ad B 8 |

(B) URHIY] WEAT & AU B € |
(C) TRV WIgW &I AT Ber &
(D) ORA] AT T A G 8

According to ‘Modern periodic law’ properties of elements are a periodic function of

their -

(A) Atomic mass \(_B)/Aﬂﬁmic number

(C) Atomic size (D) Atomic volume

Page 7 of 16 [Tum owver
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26, - - :
s a0 W B @y ey o ferewd
W W (B) OH'

(C)y Cr (D) o*
Which of the following ions can turn red litmus solution blue?
(A) H". (B) OH
(C) Cr (D) o*
27. uIRu # Wgem STRAEY § -
) S BT qE (B) A &1 UrEd
(D) affedar= BT &7

(C) 3/ arat @1 98+

The Xylem in plants are responsible for -
(B) transport Of food

(A) transport of water
(C) transport of amino acids (D) transport of Oxygen
28. ﬁw%f@aﬁmaﬁﬁmmwam'zﬁmﬁmm%?

(A) ADP ATP
(C) DTP (D) PDP

Which of the following is known as ‘energy currency’ of cells?
(A) ADP . (B) ATP

(C) DTP _ (D) PDP

Z%ﬁﬁﬁ'ﬁﬁww~uﬁﬁzﬁaa‘m%? |

(A) Br1 : : ) ™ |
(C) weafRrr (D) T | BIg T

Where does the exchange of gases take place in leaves?
(A) vein (B) stomata
(C) midrib (D) none of these

30. EB=9 ¥ (ﬁfﬁ?}ﬂﬁﬂﬂ{ﬂiﬁﬁﬁuﬁmm%—
(A) , BB GRT (B) el grt
(Cy enfefal gRT . (D) T |
he blood is pumped from heart to the entire body by the -
(A) lungs (B) ventricles
' (D) all of these

(C) atria ~
- 3], ‘@19 | grey W ur @ qREAM B 27
(A) 3T ;;iwst‘lmﬁﬂ
4€) cRafim o (D) Rrerfem

Which plant hormone is responsible for wilting of leaves?
(B) cytokinin

(A) auxin
(C) abscisic acid (D) gibberellin
[1 12] Taz2B8of 16

https://www.bihartopper.com



32. WIS B AE gfy i -

y, ERANIGORT (B) et

") e i
DR (D) vupFETEs
Downward growth of roor i . )

(A} phototropism (B) geotropism

(C)  hydrotropism )
33. 94, f%i?ﬂ Sﬁ"\? I uftaep — (D) chemotropism
(A) JITaRes @ frean 2 | J;,)/,m uftaws w1 2= 2
(C) wwa aRaw @ fwm #) (D) yftaas @1 fewm 2|
Pons, medulla and cerebellum are parts of -
(A) forebrain (B) mid-brain
(C) hind brain (D) cerebrum
3. Fafafed a9 @ afifos i 98 &
(A) & (B)/=ar
(C) &R 3 ) ged B g8
Which of the following is not an involuntary action?
(A) Vomiting (B) Chewing
(C) Salivation . (D) Heart beat
35. if1® S [He gNT AT & —
i (B) e ¥
(C) wioHifeTm ¥ (D) et 3
Asexual reproduction takes place through budding in -
(A) Amoeba (B) Yeast
- (C) Plasmodium (D) Leishmania
36. IO BT AT BT 8 —
(AY guu ¥ : (B) wHiTd #
(C) sisrem (D) & w4 A
The formation of sperms takes place in -
(A) Testes (B) Uterus
(C) Ovary (D) All of these
3199 T DI W1 AT Bed A &7 /
(A) TRITDHET - ) afiera
(C) affar (D) ssre™d
Which part of a flower becomes fruit?
(A) Anther (B) Stigma
(C) Style (D) Ovary
[112] Page 9 of 16 [Tu:n?over '
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(A) qwi A 'LBQ =N 3
AO) ooy SR &R QY (D) foeft § &
The perfect pair of sex chromosomes are found in -
(A) - male (B) female
(©)  male and female both (D) none of these
39. WHWmﬁ‘%ﬁmmaﬂﬁm#W@famﬁgmﬁﬁﬁ
(A) 21 . (B) 22
}é) 23 _(D) 48
. How many pairs of Chromosome are found in a normal cell of human body?
(A -l (B) 22
(@ 23 (D) 46
40 B ¥ A o - o ¥ S s Prefeaa gt @ -
(A) JHTE, 57 @1 e (B) =W, ap<) qul TIRE®

THal & 00, 3% W (D) 3w, aed W A
Which of the following groups contains only biodégradable items?
(A) Grass. flowers and leather (B) Grass, wood and plastic
(C) Fruits-peels, cake and rubber (D) Cake, wood and grass

gvs -9 / SECTION-B
(R-TRIWS Y&/ Non - Objective Type Questions)

Wfte are/ PHYSICS
AY-IREG 9%/ Short Answer Type Question
fadwr/ Instructions: | | Marks:40
7¥ G 1 W 6 T 7Y 907 FET & 37 9 T aw get a7 gaw 2 |

There are short answer fype questions form question no. 1 to 6. Give answer any four
questions out of six short answer type questions.

/%ﬁaﬂaa&vﬁmqﬂaﬁa$fmaﬁrmﬁuﬁ%§ﬁm€rm| | @)

Illustrate the new Cartesian sign convention for reflection by ' spherical mirrors
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A SRS L T 3
8 o IR W N @ ki ¢ e o R s wWia ok w9 uldiaa
% -y - -
R, SR (W) (a W a) i @)
Draw a ry dineram for ;
i ¥ dingram for tmage of an object placed at centre of curvature of a CONVEX
ens. Write the nature vt .
y . the nature, Postion, and size of the image formed by the lens.
g ? e e gl & wmer e Ao wd wwieR wA H @ ST i
]
: )
\\ r s M Afgsp - . . 1 1
hy an ammeter and a voltmeter are connected in an electric circuit in series and in
parallel respectively?
@ R O3 9 @ R ek ged At @R 1)

Draw magnetic field lines around a bar magnet.

(b) fHe &R Weror AR (e ) § qF @ oftew Ren @ sk figa g yaRa €@
W €, 5 O N B el g W gee am ) e @ @2 Y
A current through a horizontal transmission wire flows in t‘:usl to west direction.
What is the direction of magnetic field at a point directly below it?

5. <1 fea dg Rl ¥t & agrEie 100W. 220V @ R &1 60W, 220V B, R
dH D W e A i R AR faga sl @ aeen 220V @ @ fga d9 9
foraeit e o ol €2 @
Two lamps, one rated 100W at 220V and the other 60W at 220V, are connected in
parallel to electric mains supply. What current is drawn from the main line il the
supply voltage is 220V?_

/ -
6, ‘haeht g @ T S ¥ 0
What are the disadvantages of fossil fuels?

Y 9w 739/ Long Answer Type Question :-
7. (a) gfc AW B TBR ford | (14+3+2=6).

State types of defects of vision.
(b) 9 T qU ITD WAEH D IR F W ford |
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Write these eye defects and their correction in brief. o
@) 1 Pae gfe 8 O af ar g3 Rg =21 @ ame 80 cm o B
B Y R D e s S @) gy aen e &

D g . . al i e naturc
The far point of a myopic person is 80cm in front of the eye. What is th

and power of the lens required to correct the problem?

Ja_/ OR
A B P & o @ g 1 R aRoy @R
Draw a circuit diu;;mm for studying Ohm’s law.
M &1 FAam o
State Ohm'’s law.,
W B P B Wi T A VL I w @ o oa e A S
ford |

Draw V-I graph that verifies Ohm’s law. State the nature of the V-I graph.

S B \&_

YA W/ CHEMISTRY vy

gy 4%/ Short Answer Type Question
€%,/ Instructions:

7T GET 8 W 13 TF TY-oaed 77 & § | 5 aw get a1 oov ]/

There are short answer type questions form question No. 8 to 13. Give answer any four

questions out of six short answer type questions. pps://www.bihartopper.com

i

g oomed vd Sumeh sfifr w87 S A @

What does one mean by exothermic and endothermic reactions? Give examples.

[112] -~ Page 12 of 16
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/Rﬂﬁwaﬁﬁmmﬂﬁ?aﬁmwl | (2)

10,

i A . .
What is a heutralisation reaction? Give two examples

SR JARY —

@ ‘*@W“ﬁ&mwmﬁmawwmmmm (2=1+1)

@) eaPfvm s o o 4, fox A g ST @ T T T
T @ o R s 2

Give reasons:

(a) Sodium, Potassium and Lithium are stored under oil.

(b) Aluminium is a highly reactive metal. Yet it is used to make utensils for

cooking.

y’ﬁﬁfﬁ fdg wvaar gy - - =)

(a) HpS (b) E

Draw Lhe electron dot structure for —

(@) H,S (b) F

12. worfd A UOFEE o § uRada B el i w0l e 87 @)
Why is the conversion of ethanol to ethanoic acid an oxidation reaction? -

W(mrgﬁwﬂﬁmuﬁmwmmijsﬁﬁrﬁﬁm%ﬁlsﬁ
A I W1 o AR REgR Fomes e @)
Write the electronic configuration of Nitrogen (atomic number 7) and Phosphorus
(atomic number 15). Which of these will be more electronegative?

[1 1 2] Page 13 of 16 | [Turn over
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dfamrfta avr,” Long Answer Type Question

y.‘wmn ey A wenart P A
(1 @ty |

() WA

am W

tivy =l

(V) B

Draw the structure for the following compounds.

(1) Bromopropane

(11) Propanal

(i1} Propene

(iv) Benzene

(v) Hexane

3Er / OR

Frevfeiaa afifsand aar 82

() gurH s

(i) fadr St -

(iif) faveme= ifyfsrar

(iv) fefevmms sfafba

What are the following reactions?
(i)  Combination reaction

(i) Decomposition reaction’
(ifi) Displacement reaction

(iv) Double displacement reaction

[112] _Page 1401 16
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Wafis™,/ BIOLOGY

YTy ¥/ Short Answer Type Question

A3/ Instructions:

T TR 15 5 2p W@—WW&W?MWWWW%

There are short answer type questions form question no. 15 to 20. Give answer any four

questiosn out of six short answer type questions.

L mewﬁwm%?@aﬁﬁfﬂmwmﬁmw
BRI 2| @

. . . . el . l, c
What are the differences between aerobic and anaerobic respiration: Name som

organisms that use the anaerobic mode of respiration.

16. dfer Sa% BN fhar owar 87 ' @)

Why does the nervous tissue act?

17. Feqea adi e 87 | | ()
Why does menstruation occur?

)B/W—aﬁﬁﬁﬁqﬁagﬂﬁ?ﬁsﬂﬂ?a?faﬂ?qaﬁﬁmmé?' @)
What is the difference in mode of reproduction between unicellular and multicellular
organisms?

y/qﬁﬂwwﬁ?wma@waﬂﬁwﬁml @)

What are trophic levels? Give an example of a food chain.

(112] Page 15 of 16 [Turn over
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. | | 2
yﬁﬁ@mﬁﬁaﬂaﬂmmw‘rmm%ﬂ? @
Why should we conserve forests and wildlife?

gl 7¥7/ Long Answer Type Question
21, w@a Siat ¥y @ @ aren ) , (5)

-

Explain the modes of reproduction in single organism.

3yar / OR

| T qF P AT F TN Ud SHD Pl BT 9o BN |

Draw labelled diagram of male reproductive system and explain its functions.
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